Chapter 6 – Union Strategies and Structures for Representing Workers
True/False
[QUESTION]
1. Union strategic decisions vary as unions must decide to what extent they seek to promote worker interests through political channels versus collective bargaining. 
Ans: True
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Difficulty: Easy
[QUESTION]
2. Historically, the U.S. labor movement has devoted the bulk of its efforts to political action as opposed to collective bargaining. In other words, unions have tried to improve worker conditions through identifying themselves with political parties rather than through collective bargaining.
Ans: False
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[QUESTION]
3. The Independent Labor party, created in 1995, has been effective in lobbying Congress for reforms in favor of union organizing.

Ans: False
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[QUESTION]
4. Compared to other states New York and Michigan have relatively low union densities.

Ans: False
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[QUESTION]
5. The percent of the service sector work force that is organized dropped throughout the 1980s.
Ans: True
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[QUESTION]

6. Many of the organized white collar employees belong to public sector unions.
Ans: True
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[QUESTION]
7. Fifty unions in the United States, account for approximately 75% of all union members. 
Ans: False
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[QUESTION]
8. Within the coal industry, the non-union sector did not grow throughout the post World War II period. 
Ans: False
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[QUESTION]
9. Non-union operations are now a majority of all construction operations.

Ans: True
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[QUESTION]
10. John R. Commons was one of the first to note that union growth was caused by the influence of laws and public policy, such as the NLRA. 
Ans: False
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[QUESTION]
11. In states that have right-to-work laws, union membership levels are relatively low. 
Ans: True
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[QUESTION]
12. Public sector union membership is greater in states that have legislation granting public employee unions the right to collective bargaining than in states which do not have such laws. 
Ans: True
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Difficulty: Medium
[QUESTION]
13. One structural change in the economy that has affected union membership levels is the expansion of service and white collar jobs and the reduction in blue collar occupations.
Ans: True
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[QUESTION]

14. The survey evidence by Professors Freeman and Rogers reveals that employees believe that their managers would adopt passive measures to avoid unionization.

Ans: False
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[QUESTION]
15. Seymour Martin Lipset claims that the American worker possesses an ideology which focuses on individualism, thus leading workers away from unionism.
Ans: True
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[QUESTION]

16. A craft union's jurisdiction encompasses all workers within a firm. 
Ans: False
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[QUESTION]
17. The most influential policy making body within the AFL-CIO is the Industrial Union Department.
Ans: False
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[QUESTION]
18. From its formation in 1886, the AFL has always favored industrial unions as the device to organize skilled workers. 

Ans: False
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[QUESTION]
19. If a local union is a branch of the national union, then the local union is governed by the constitution or bylaws of the national union. 

Ans: True
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[QUESTION]
20. Within many industrial unionized settings, unionized employees are covered by both a local contract and a company or industry contract. 

Ans: True
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[QUESTION]
21. Rarely does a national union assist the local union during negotiations of the local collective bargaining agreements. 

Ans: False
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[QUESTION]
22. Most scholars agree that the election of executives in corporations is clearly more democratic than the way union officers are elected. 
Ans: False
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Difficulty: Medium
[QUESTION]
23. James Hoffa Jr., president of the Teamsters union, initiated project RISE to end corruption in the union and the government’s oversight of the union’s operations.
Ans: True
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[QUESTION]
24. The Servicing Model plays a critical role in daily union affairs.

Ans: False
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[QUESTION]
25. Merger activity has decreased the number of unions, allowing large unions to grow even faster.

Ans: True
Page: 145
Difficulty: Easy
Multiple Choice
[QUESTION]
26. Which of the following is NOT an example of labor’s more active role in politics, corporate affairs, and society in the 1990s?

A. The AFL-CIO’s creation of a new Department of Corporate Affairs.

B. Coalition-building with the “Living Wage” campaign.

C. Advocacy of human rights at the international level.

D. Unwavering support of Democratic congressional and presidential candidates.

Ans: D
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[QUESTION]
27. Which of the following trends in union membership are true?

A. Membership in both the manufacturing and the government sector steadily increased throughout the 1980s.

B. Membership in both the manufacturing and the government sector steadily decreased throughout the 1980s.

C. Membership in the manufacturing sector steadily increased while membership in the government sector steadily decreased throughout the 1980s.

D. Membership in the manufacturing sector steadily decreased while membership in the government sector plateaued throughout the 1980s.

Ans: D
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[QUESTION]

28. Which states have the lowest union density?

A. Arizona and Mississippi.

B. North and South Carolina.

C. New York and Michigan.

D. a and b.

E. a and c.

Ans: B
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[QUESTION]

29. Unionization from 1953 to 1996 has NOT decreased in:

A. the government sector.

B. the public service sector.

C. the manufacturing sector.

D. private sector.

Ans: A
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[QUESTION]
30. Within blue-collar industries, unions represent workers mostly in

A. service occupations.

B. managerial occupations.

C. the semiskilled occupations.

D. the professional occupations.

Ans: C
Page: 126-127
Difficulty: Easy
[QUESTION]
31. The recent Supreme Court decision NLRB v. Kentucky River Community Care, Inc., is expected to undercut organizing efforts for private sector medical officials because it determined that

A. Six health care officials were supervisors so could not join unions.

B. Six health care officials exercised independent judgment so could not join unions.

C. Six health care officials could not organize because it would violate medical ethical guidelines.

D. Nurses and doctors could not be part of the same bargaining unit.

Ans: A
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[QUESTION]
32. Which of the following is true about union membership levels across demographic groups?

A. The number of female unionists as a percentage of all union members has held steady.

B. The percentage of black workers who are members of unions is identical to the percentage of white workers.

C. The number of female unionists as a percentage of all union members has been decreasing.

D. Black workers are more likely to be members of unions than white workers.

Ans: D
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[QUESTION]
33. One union that grew extensively after 1970 was

A. the United Auto Workers.

B. the United Steel Workers.

C. the United Mine Workers.

D. the American Federation of State, County, and Municipal Employees.

E. none of the above.

Ans: D
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[QUESTION]

34. One reason for the rapid decline in union membership is that 

A. the service sector was hit hard by the effects of recent recessions and also by the declining competitiveness of U.S. service goods.

B. the public sector was hit hard by the economic and organizational restructuring in their respective industries.

C. the most highly unionized industries were hit hard by recent recessions and also by the declining competitiveness of U.S. manufactured goods.

D. the service sector was not allowed to organize due to the shift in the political structure of the U.S. government.

Ans: C
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[QUESTION]
35. Which of the following experienced a sizeable decline in union membership after 1970?

A. The construction industry.

B. The trucking industry.

C. The government sector.

D. The financial sector.

E. a and b.

Ans: E
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[QUESTION]
36. A cyclical explanation of union growth states that 

A. unions grow during economic prosperity and during economic downturns.

B. unions grow during economic downturns and decline during times of economic prosperity.

C. unions grow during times of economic prosperity and decline during times of economic downturns.

D. unions decline during times of economic prosperity and during times of economic downturns.

Ans: C
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[QUESTION]
37. "Structural" factors that cause union growth and decline include

A. the business cycle.

B. the unemployment rate.

C. historical and legal influences.

D. the influence of laws and public policies.

E. c and d.

Ans: E
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[QUESTION]
38. Jack Fiorito and Cheryl Maranto identified which of the following as a cause of the decline in American union membership?

A. Structural changes in the economy and the labor force.

B. Employer substitution through personnel practices.
C. American worker ideology.

D. Internal union affairs and actions.

E. all of the above.

Ans: E
Page: 132-135
Difficulty: Easy
[QUESTION]
39. Consider the following situation: Employer A decides to talk with its employees during the course of a union election. Employer A and its consultants states that unions are terrible and that they could cause unemployment. This situation identifies which of the following factors as a cause of the decline in union membership.

A. Employer substitution through personnel practices.

B. Internal union affairs and actions.

C. American worker ideology.

D. Union avoidance through employer campaign practices.

Ans: D
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[QUESTION]
40. Consider the following situation: Employer A decides to hire human resource managers who set up company complaint procedures and new pay systems. This situation identifies which of the following factors as a cause of the decline in union membership.

A. Structural changes in the economy and the labor force.

B. Employer substitution through personnel practices.

C. Internal union affairs and actions.

D. American worker ideology.

E. Union avoidance through employer practices.

Ans: B
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[QUESTION]
41. The AFL-CIO is an organization is composed of

A. local unions.

B. local union presidents and other locally elected officers.

C. national unions.

D. national union presidents and other nationally elected officers.

Ans: C
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[QUESTION]
42. The AFL performs which of the following?

A. It is actively involved in the collective bargaining activities of its member unions.

B. It offers extensive research and technical support to individual unions or to unions with common problems.

C. It engages in political lobbying and disseminating information to union members about political events and elections.

D. To settle or arbitrate jurisdictional disputes among competing unions.

E. b, c, and d.

Ans: E
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[QUESTION]
43. Where a unionized worker is covered by both a local (plant level) contract and a company-wide contract, the local contract usually covers which of the following?

A. Scheduled wage increases.

B. Work rules and job requirements.

C. Fringe benefits.

D. Pensions.

E. a and c.

Ans: B
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[QUESTION]
44. The role of the shop steward is to 

A. be an assistant to the national union president.

B. be an assistant to the local union president by providing advice and technical information.

C. assist a worker when a grievance arises between a worker and a supervisor.

D. all of the above.

Ans: C
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[QUESTION]
45. Which of the following was NOT stressed in AFL-CIO President John Sweeney’s mission statement in 1995?

A. Organization of new members.

B. Service to the current rank-and-file.
C. Awareness of the labor movement for college students.
D. Election of a Congress sympathetic to labor.
Ans: B
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[QUESTION]
46. The advantages of union mergers include

A. administrative benefits that accrue from greater economies of scale.

B. increases in competition between unions.

C. better focus by unions on collective bargaining.

D. the provision of job security.

Ans: A
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[QUESTION]
47. The disadvantages of union mergers include

A. the fact that some mergers are opportunistic and expansionist in nature.

B. the negative consequences of large union size for union democracy.

C. the fact that some mergers arise out of the leader's quest for increased power and control.

D. all of the above.

Ans: D
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Short Questions and Answer Key
[QUESTION]

48. Unionists often claim that the reason for the decline that has occurred in the percent of the workforce unionized in the United States after the early 1950s is aggressive managerial opposition to union organizing. Cite two pieces of evidence that lend support to this claim.
Ans:
Possible answers:

Research shows that a significant percent of those who support unionism are fired during organizing drives.

Research shows that election delays often lead to low union win rates.

Research shows that management has greatly increased the use of consultants and that the use of management consultants leads to low union win rates.
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[QUESTION]

49. Now provide a reason why one might doubt that managerial opposition to union organizing can fully explain union decline in the United States.

Ans: 

Possible answers:

A. Unions faced very strong resistance from management in the past yet managed to organize.

B. Union decline started (in the early 1950s) before the use of management consultants or extensive election delays started to increase.

Page: 133
Difficulty: Easy
[QUESTION]
50. What do analysts mean when they claim that the basic ideology and world view of American workers can explain the decline in unionism that occurred after the early 1950’s?

Ans:
Analysts including Lipset claim that American workers lack a communitarian (socialistic) ideology and are extremely individualistic. This leads them to shun unionism. In effect, after the 1950s the level of unionism returned to its more natural state reflecting our true underlying ideology according to this argument.
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[QUESTION]
51. Point to one factor or piece of evidence that would lead you to doubt the claim that workers’ underlying ideology or worldview explains union decline in the United States after the early 1950’s.
Ans:
Canada experienced union growth during the same period that union decline occurred in the US yet opinion poll survey data shows that workers ideology is not so different in the two countries. Or, it is not clear that American workers’ underlying ideology was so different during periods when unions grew in the US such as during the 1930s.
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Essay Exam Questions and Answer Key

[QUESTION]

52. It could be argued that there was nothing particularly unusual about the declines in union membership that occurred in the United States during the 1980s. In some ways the declines experienced in the 1980s are unusual or similar as compared to earlier trends? Cite examples where applicable.

Suggested Answer:  

Student answers may vary. From the 1980s on, unions in the United States were losing members in numerical (absolute) terms, and the decline in the percentage of the work force in unions accelerated. An analysis of overall trends in union election activity since 1950 shows that the number of elections held, the number of workers voting in those elections, and the unions’ win rate in the elections held all declined. As a result of these declines, the annual percentage of eligible workers in the labor force that became newly organized fell dramatically.
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[QUESTION]

53.  Over the last 30 years union membership as a percentage of the workforce has grown substantially in Canada while declining steadily in the United States. Explain what kinds of data you could collect and how you could use that data to identify the factors that caused this difference in union growth.

Suggested Answer: 
Student answers may vary. Several factors influence union growth. To analyze the differences in union membership in the U.S. and Canada, one would need to collect data on the number of elections held, the number of workers voting in those elections, and the unions’ win rate in the elections held. Other areas worth looking at include the rate of new union organizing; membership turnover; attitudes of the public toward unions; labor costs in different regions; and shifting of employment opportunities to the service sector. 
According to Jack Fiorito and Cheryl Maranto factors that account for the decline in American union membership include: structural changes in the economy and the labor force; union avoidance through employer election campaign practices; employer substitution through personnel practices; government substitution; American worker ideology; internal union affairs and actions; and limitations of the standard organizing and representation model. 
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